STA 4504/5503: Exam 2

Formulas

logit(m) = a + Sy + - + Bray = Rttt

Baseline-category logit model: log[P(Y = j)/P(Y = J)| = a; + f;x

eaj—l—ﬁjw
L i=1,2,..,J—1.

P(Y = j) = 1+ eatbiz 4 easatfiaz

Cumulative logit model: logit [P(Y < j)] = a; + Bz

P(Y <j)=-exp(a; + px)/[1 +exp(e; + fz)], j=1,2,...,J — L.

VAR (7112 — 7’L21)/\/7’L12 + N9y (MCNemar)

\/(nm +no1) — (12 — na)?/n

SE for diff of matched proportions:

D0 Tii — D Tit M
Kappa: k=
L= gy

Independence loglinear model : log j1;; = A + AX + )\3/
(XY, XZ,YZ): logpije = A+ N + AL + A+ A5+ 07+ A7

(XZ,YZ): logpie = A+ A5+ A + A0+ A7+ A7



